
Technical Datas

Technical Data

OEM-P Laminated 77364 77365 77366 77367

Sand Filter

Ø Filter D mm 500 600 750 900

H mm 736 796 906 1021

A mm 300 323 320 390

B mm 125 125 230 270

Connections 1.5" 1.5" 2" 2"

Flow rate m3/h at 50 m3/h/m2 9,5 15 22 32

Pool (volume) m3 (8 hrs) 76 120 176 256

Sand kg 95 125 290 400

granular size 25 kg 0,4-0,8/70 kg 0,7-1,2 25 kg 0,4-0,8/75 kgs 0,7-1,2/ 50 kg 0,4-0,8/115 kg 0,7-1,2 75 kgs 0,4-0,8/125 kg 0,7-1,2

25 kgs 1,0-2,0 75 kg 1,0-2,0/50kg 2,0-4,0 10 kg 1,0-2,0/100 kg 2,0-4,0

Max. working pressure kg/cm2 2,5 2,5 2,5 2,5

Net weight kg 15.20 18.42 27.40 35.87

General weight kg 17.80 22.52 33.80 43.87

Packaging volume m3 0.20 0.35 0.61 0.94

OEM-P Laminated Sand Filters
Spare Parts

Spare Parts

OEM-P Laminated unit

Sand Filter

item code description pcs/m remark

1 3010101-0025 O-ring 230x10 EPDM 65 1

2 3010101-0024 White filter lid 1

3 04010200-0027 Nuts stainless steel M8 DIN 934 A2 8

4 03010101-0021 O-ring 7x2 8

5 03010101-0005 racord M8x57 special two threads 8

6 03010101-0017 arandela D8 DIN 125 A4 8

7 03010101-0006 Nuts stainless steel M8 DIN 934 A4 8

8 03010101-0004 White cover for M8 nuts 8

9 03010101-0003 Flange bolt 1/4" 1

10 03010101-0022 Rubber gasket 1/4" 1

11 03010101-0026 Tapon plastico M8 blanco 1

03010101-0013 Diffuser D50 1 D500/650

3010103-0013 Diffuser D63 1 D800/950/1050/1200

03010101-0041 Diffuser bolt D50 1 D500/650

03010101-0042 Diffuser bolt D63 1 D800/950/1050/1200

03010101-0014 Elbow D50 2 D500/650

03010101-0014 Elbow D63 2 D800/950/1050/1200

0,659 D500

0,82 D650

1 D800

1,2 D950

1,4 D1050

1,55 D1200

16 03010101-0011 pipe tube L620x6 1 D800/950/1050/1200

6433 Collector 8 holes 1 D500/650

6434 Collector 12 holes 1 D800/900/1050/1200

6436 L170 arm 8 D500

6435 L225 arm 8 D650/1050

6435 L225 arm 12 D800

03010104-0003 L310 arm 12 D950/1200

6438 Mix collector 125 mm 1´ 12 D1050/1200

6439 Collector union 1´ 12 D1050/1200

Pipe 63 PVC pipe D63

17

18

14

15

side mounted valve

12

13

Pipe 50 PVC pipe D50

Seite 1


